1. Lhopitals rule
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2. Critical Values, MAX/MIN Tests, Absolute Extema, Increasing, concavity Critical values, inflection pts
Given the function: [image: image6.wmf]3
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a.) Find all critical values

f’ = 6x2-12x-18=6(x2-2x-3)=6(x-3)(x+1)=0
Answer_____3,-1_________________

b.) Show how to use the second derivative test or the first derivative test to determine if the critical values are a maximum or minimum
f’’=12x-12   so f’’(3) = 36-12 = 24 = positive number so x=3 is a min!

f’’=12x-12   so f’’(-1) = -12-12 = -24 = negative number so x=-1 is a max!

c.) Find the absolute maximum and minimum values on the interval  [-2,2]

f(2)=16-24-36+3=-41  MIN  f(-2)=-16-24+36+3 = -1  f(-1) = -2-6+18+3 =13 MAX

Answer__ABS MIN:-41  ABS MAX 13_____
d.) Interval where f(x) increases. 

f’ > 0  when 6(x-3)(x+1)>0  when x <-1 and x>3 (requires some algebra)

e.) Interval where f(x) is concave up.


 
f’’ >0 when 12x-12 >0 when x>1
Find any inflection points.

f’’=0  when 12x-12 = 0 or when x = 1
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